Transformations on the TI			Name____________________________
Teacher Notes

On your TI-84CE, set up a connected line graph with the points (1, 1), (1, 5), (4, 5) and (1, 3).
Use the window -13.2 < x < 13.2 and -8.2 < y < 8.2.  (This will produce a square window.)
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You should have the graph of a “flag” in quadrant I.  In order to translate this “flag” right 4 and down 2 units,  move the cursor to the top of L3 and type “L1 + 4” and press “ENTER”, then move the cursor to the top of L4 and type “L2 – 2” and press “ENTER”.  Now set up the Plot2 with a connected line graph with L3 and L4 to confirm this translation.
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One way to write this is as a rule: (x, y)  (x + 4, y – 2).  

Let students try these:

1.  Change L3 and L4 to graph a reflection of the flag over the x axis.  
     L3 should become:
     L4 should become:
    How could we write that transformation as a rule?
2.  Change L3 and L4 to graph a rotate the flag 90° clockwise about the origin.  
     L3 should become:     
     L4 should become:
    How could we write that transformation as a rule?

3.  Change L3 and L4 to graph a dilation of the flag by a factor of 2 about the origin.  
     L3 should become:
     L4 should become:
    How could we write that transformation as a rule?

4.  Change L3 and L4 to graph a reflection of the flag over the y axis then a translation of 
     5 left.  
     L3 should become:
     L4 should become:
    How could we write that transformation as a rule?

5.  Change L3 and L4 to graph a rotate the flag 90° counterclockwise about the (2, -1).  
     L3 should become:     
     L4 should become:
    How could we write that transformation as a rule?

6.  Find the transformation that creates each of the following:
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